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main.pas

{

Welcome to GDB Online.

GDB online is an online compiler and debugger tool for C, C++, Python, Ja/
C#, VB, Swift, Pascal, Fortran, Haskell, Objective-C, Assembly, HTML, CSS,
Code, Compile, Run and Debug online from anywhere in world.

}

[+« TN e TV I S DU Ny

Hello

writeln ('Hello World')

Copyright (c) 1993-2017 by Florian Klaempfl and others

Target 0S: Linux for x86-64

Compiling main.pas

Linking a.out

/usr/bin/1d.bfd: warning: link.res contains output sections; did you forget -T2
12 lines compiled, 0.1 sec

Hello World

...Program finished with exit code 0
Press ENTER to exit console.
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program sum,

var N, i, s: integer;

begin
write('sum [1..N] Program. Please Enter N: ');
readin(N);
s :=0;
N =4

Whi‘ei<:nd begin wNIRUETESND

S:=S +i; /Eﬂﬁ

=1+ 1;

end;
writeln(‘'sum[1..n] ="', s:8);
readin

end.
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sum [l..N] Program. Please Enter N: 100
sum[l..n] = 5050

sum [1l..N] Program. Please Enter N: 200
sum[l..n] = 20100

12



JO20 5 AZETlE

13



iR DR VALEEDOH S

- #EDIRL DA
i:=1&S:=0%&FET
FEDIRUDBEARATYVI TREINDBCE
1. Is] (C Ti] #BLZD
— Sl ([Zl&, ZDFFRTD [1 050 ] FTOH
MAD
2. [il OOfEZ 11T
- #EDIRUDFRT A+
i <= N DR DIZTER< IO IEBRT
— DEDI>NICROIEEET

Palebuse Lok

14



= PAZN DA
N=7&TFBE s O P

(FU&HEs=0 =1

Palebuse Lok

@O
1 BIE
R DIR NN
ROE =7 PSS s=1+2 =3

fE NIk _ N :
%3D@LEL/ | <=7 WBILT D s=3+3 1=4

fE DR o
%IDIEILELJ | <=7 ARILT D S=6+4 i=5

%KSDE%L/ i <=7 WIZT D s=10+5 =6
DL
6 [o]H
DL
7 O1H
DL
8 [O1H

| <=7 DBRKIZT D s=0+1 =2

| <=7 HBRII Y B s=15+6 =7

<=7 W31 9 B s=21+7 =8

| <=7 DAz L7RLY




while X ¥

« (A DOUIEDFEDIR U

« ¥DIRULDIZTNC while XTE3 =&KX DE
BEHHIESN, BETHBIRD, while D & I(CH
<XHERfTENGTS.

while Z&f43\ do begin |

ﬁl, @;\Yes
2; —

No

73

end |

A

16



BISE2 . BANHBDTE 5.

Fraihuse Lok,

¢ 2 jd) 7;&7 Q’Zuzb%L/\fC T*ﬁﬂﬁ&‘k
HDT7005 L=ZEB.
« -2y ROBINEZRHWS Z &
« J—20Uw ROBINEZITD 28I while XZ2E<

B) 20,12 DEE: 4

17



J1—2Uw ROBE s &
 RADHIENERDDBIZHDFHi =

e MNDEANLTIZN,
m=2nd&9ddDE,
m Z&n TEIOERD] =075, FAAHEIE n
'm Z&n TEIDTZRD | >0735, m & n OEXRAH
L, [mZznTEOEHRD] & n OERANHEICE
LU

(728, n> ImZnTEI>TEFRDI HkDIID)

18



program sum,

Palebuse Lok

var r, m, n: integer;
begin
write('GCD Program. Please Enter m: ');

readin(m);
write('Please Enter n: '); ?i%ﬁ:it

readin(n);
r:=mmod n;

while r > 0 do begin
m:=n; FADEDIIDIRD,
ERITESNDITHEH

n:=r;

r:= m mod n;

end;
writeln('GCD =", n:8);

readin

end. 19
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CD Program. Please Enter m: 80
lease Enter n: 35

CD = 5
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r.-=m % n;
Yes
r>()/
o m :=n;
n:=r;

r := mmod n;
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program sum;

var x, s: real, Prtuse 4,
var i: integer,
begin

T SR

1 :=0;

write('Please Enter x[', i

readIn(x);

while|0 <= x do begin

S =S +X; SEHEDRDIIDIRD,
=i+ 1; E{TSNDDT35a9
write('Please Enter x[', i:3,']: ");
readln(x);

end,;

writeln('sum =', s:8:3);
writeln(‘average =', (s/1):8:3);

readln

end. 25
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Please Enter x|
Please Enter x|

Please Enter x|
Please Enter x|
sum = ©.000
average = 2.000
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s:=0;
1 :=0;
write('Please Enter x[, i:3, ']: 9;
readin(x);
\Yes
<O<=X/ l
No S =S +X;
=1+ 1;
write('Please Enter x[', i:3, ]: );
readin(x);
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program sum;
uses SysUtils;
var i, j. integer;

begin

TEDIRL

fori:=11to 9 do begin
write(i:3,":");

forj:=1to 9do begin

write( (i*):3);

end:

writeln;

end;
readln

end.
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for 22844 = #JHAE to #2 T{E do begin
T,
2;

end
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z1 z2 =(xX1+i1yl)(X2+1y2)
=XIx2 + x1iy2 +1ylx2 +1yliy2
= X1x2 - yly2 + 1 (x1ly2 + y1x2 )

. J A\ /

Y Y
L M
EZNE prky el

37



program sum;
var |, n: integer; {
var x1, y1, x2, y2, theta: real; P ek
begin

write('Please Enter n: ");

readin(n);

write('Please Enter theta: ");

readin(theta);
x1 := cos(theta);

yl := sin(theta); !f?ED RUSEITENS

;; o - N 585>

] =1 /
WhiIE | <= amm
writeln( '(cos theta + i sin theta)', j, '=', x1:8:3, '+1i ', y1:8:3);
writeln( 'cos', j, 'theta +i sin', j, 'theta =', cos(j * theta ):8:3, sin(j * theta ):8:3);
X1:=x1*x2-yl*y2;
yl:=x1*y2 +x2*vyl,
jr=i+ 1

end:;

readin 38

end.
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Please Enter n: 8

Please Enter theta: 0.1
(cos theta + i sin theta)l=
cosltheta + 1 sinltheta =
(cos theta + i sin theta)?2=
cosZ2theta + i1 sinZ2theta =
(cos theta + i sin theta) 3=
cos3theta + 1 sin3theta =
(cos theta + i sin theta) 4=
cosdtheta + 1 sindtheta =
(cos theta + i sin theta) 5=
cosbtheta + i1 sinbtheta =
(cos theta + i sin theta) 6=
cosetheta + 1 sinétheta =
(cos theta + i sin theta) /=
cos/theta + i1 sin’theta =
(cos theta + i sin theta) 8=
cos8theta + 1 sinBtheta =

0.995+ 1

. 995 0.100

0.980+ 1

.980 0.199

0.955+ 1

. 955 0.296

0.922+ 1

.921 0.389

0.879+ 1

.878 0.479

0.828+ 1

.825 0.565

0.769+ 1

. 765 0.644

0.703+ 1

.697 0.717
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x1 :=cos 6
y1:=sin0
X2 =x1
y2 =yl
2 R1T

- BDBUDBEATYI CTRSNDZ L
X1:=x1*x2-yl*y2
yl:=x1*y2+ x2*yl,;
ZET (X1 HEEEB, y1 HEEEER)
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(cosB+ 1 sinB)n = cos nB+ 1 sin nB {
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(cosB+ 1 sinB)2 = cos20- sin20+ 2i cosBsin O
= c0s20+ i sin20
(cosB+ 1 sinB)3 = (cosb+ 1 sinB)2 (cosB+ 1 sinB)
= (c0s20+i sin20) (cosb+ i sinB)
= c0s20c0s6- sin20sin6
+1 (c0s20sinB- sin20cos0)
= cos (20+0) + i sin (26+0)
= c0s360+ i sin30
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